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QUESTION 1

Which of the following is NOT an example of a common challenge of the Six Sigma Methodology within an
organization?

A. lack of support

B. poor project execution
C. excess resources

D. lack of access to data

Correct Answer: C

QUESTION 2

Scrum is used:

A. When teams want to create new technical products

B. when teams want to integrate new developments on existing products within a short time frame
C. All of the above

D. None of the above

Correct Answer: C

QUESTION 3

What is the aim of the Six Sigma methodology when it comes to percentages?
A. Improves customer satisfaction and shareholder value

B. Discover all of the problems, then take actions to reduce them

C. Improve all business processes to 99,9997% perfection

D. Uncovering the gaps or defects in a business process

Correct Answer: C

QUESTION 4
What is fish bone/ishikawa diagram?

A. it is categorizing measuring problem in six Sigma.
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B. It is only identify root causes.
C. Itis a qualitative and systematic tool.
D. It is categorizing the potential causes of a problem.

Correct Answer: D

QUESTION 5

What do Data driven processes mean?

A. are heavily based on intuition

B. rely heavily on the experience of the process owners

C. are based on statistical data, measurement and metrics
D. do NOT rely on mathematical models

Correct Answer: C
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